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Question No : 1

Which two interfaces are active in the Contrail analyzer-vm-console-two-if.qcow? traffic
analyzer image? (Choose two.)

A. right

B. monitor

C. left

D. management

Answer: C,D
Explanation:

https://www.juniper.net/techpubs/en_US/contrail2.0/topics/task/configuration/configure-
traffic-analyzer-vnc.html

Question No : 2

Which role does Contrail serve in SDN?

A. orchestrator
B. controller
C. gateway

D. fabric

Answer: B

Question No : 3

You aretroubleshooting an issue within your Contrail cluster and need to align the statistical
and event information from the virtual overlay network with the physical underlay network,
consisting of QFX Series devices.

Which three protocols must be enabled on each device in the topology to accomplish this
task? (Choose three.)
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A. SRTP
B. sFlow
C. SNMP
D. RMON
E. LLDP

Answer: B,C,E

Question No : 4

You areinstalling a Contrail and OpenStack cluster.

What is the correct order of installation steps for this task?

A. Unpack the Contrail packages, update testbed.py, upgrade the kernel install Contrail,
and setup all.

B. Unpack the Contrail packages, update testbed.py, install Contrail, setup all, and upgrade
the kernel.

C. Unpack the Contrail packages, install Contrail, upgrade the kernel, update testbed.py,
and setup all

D. Unpack the Contrail packages, update testbed.py, upgrade the kernel, setup all,
andinstall Contrail.

Answer: A

Question No : 5

Which statement about a Contrail environment is true?

A. All compute nodes include a vRouter.
B. All control nodes include a vRouter.
C. All analytic nodes include a vRouter.
D. All config nodes include a vRouter.

Answer: A

Question No : 6
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You are troubleshooting a Contrail environment and need to verify the version information
on all participating nodes.

Which two actions accomplish this task'? (Choose two.)

A. Issue the contrail-version on command on each participating node.

B. Issue the fab all_version command on each participating node from the /opt/contrail/utils
directory.

C. Issue the contrail-version command on the config node.

D. Issue the fab all_version command on the config node from the /opt/contrail/utils
directory.

Answer: A,D

Question No : 7

A service provider wants toprovide a dynamic service offering employing NFV.

Which Juniper solution meets this requirement?

A. VNAS
B. vNIC
C.vCPU
D. vCPE

Answer: D
Explanation:

https://www.juniper.net/techpubs/en_US/nfv1.5/topics/concept/ccpe-nfv-overview.html

Question No : 8

What are two valid service VMs in a service chain? (Choose two.)

A. gateway
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B. load balancer
C. orchestrator
D. firewall

Answer: B,D

Question No : 9

Which two statements about a Contrail environment are true? (Choose two.)

A. Control nodes peer with other control nodes using XMPP.
B. Control nodes peer with compute nodes using MP-BGP.

C. Control nodes peer with other control nodes using MP-BGP.
D. Control nodes peer with compute nodes using XMPP.

Answer: C,D

Question No : 10

Which type of query is generated by the curl http://<ip
address>:8081/analytics/uves/vrouters command?

A. REST
B. SQL
C. SSL
D. XML

Answer: A



